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Note:

1. This question paper contains eight questions. Attempt total five

questions including question No.1 which is compulsory.

2. Each question carries equal marks. Marks are divided and indicated
against each part of the question.

3. Write legibly. Each part of the question must be answered in
sequence in the same continuation.

4. If questions are attempted in excess of the prescribed humber only
questions attempted first up to the prescribed number shall be
valued and the remaining answers will be ignored.
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Critically examine the classical approach to organizations in the
study of Public Administration. (20)
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Describe the features of New Public Management and evaluate

its relevance in developing countries. (20)
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“Public policy like all organic entities is always in the making.”

Analyse the statement. (20)
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Discuss the following: (20)
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(a) Performance management in government
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(b) Rationality in administrative behaviour
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Describe the growth, advantages and disadvantages of
Delegated Legislation and the judicial control over such
legislation. (20)
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Today, development administration is less bound by western
approaches of development. Comment. (20)
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Do you think ‘Outcome Budget’ is an improvement over
‘Performance Budget'? (20)
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Distinguish between: (10x02=20)
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(a) Hierarchy and Gang-plank
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(b) ‘Zone of indifference’ and ‘zone of acceptance’.
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